

A THEOREM ON GENERALIZATION ABSOLUTE MATRIX SUMMABILITY OF FACTORED INFINITE SERIES

ŞEBNEM YILDIZ YAR

Department of Mathematics
Ordu University, Ordu, Turkey
E-mail: sebnemyildizyar@odu.edu.tr

Abstract

Sulaiman [16] has obtained a theorem dealing with weighted mean summability factors of infinite series. In this paper, we have generalized this theorem to $|A, p_n, \delta|_k$ summability method for infinite series.

1. Introduction

Let $\sum a_n$ be a given infinite series with (s_n) as the sequence of its n -th partial sums. Let (p_n) be a sequence of positive real numbers such that

$$P_n = \sum_{v=0}^n p_v \rightarrow \infty \text{ as } n \rightarrow \infty, (P_{-i} = p_{-i} = 0, i \geq 1).$$

The sequence-to-sequence transformation $(s_n) \rightarrow (T_n)$ with

$$T_n = P_n^{-1} \sum_{v=0}^n p_v s_v$$

defines the sequence (T_n) of the weighted arithmetic mean or simply the $(\overline{N}, p_n)$ mean of the sequence (s_n) , generated by the sequence of coefficients (p_n) (see [12]).

2010 Mathematics Subject Classification: 26D15, 40D15, 40F05, 40G99, 46A45.

Keywords: matrix summability, summability factor, infinite series, Hölder inequality, Minkowski inequality.

Received October 18, 2024; Accepted January 13, 2025

The series $\sum a_n$ is said to be summable $|\bar{N}, p_n|_k, k \geq 1$, if (see [1])

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n} \right)^{k-1} |T_n - T_{n-1}|^k < \infty.$$

$|\bar{N}, p_n|_1$ is the same as $|\bar{N}, p_n|$.

2. Known Results

Given the series $\sum a_n$, if a series $\sum a_n \varepsilon_n$ is summable in some sense while, in general, $\sum a_n$ is itself not so summable, then (ε_n) is said to be a summability factor of the series $\sum a_n$. If the summability in question is absolute, the factors are naturally called absolute summability factors. Given any sequences $(x_n), (y_n)$, it is customary to write $y_n = O(x_n)$, if there exist κ and N , $|y_n| \leq \kappa |x_n|$, for every $n > N$ (see [12]). In [2]-[10], [15],[18] some results have been studied dealing with absolute summability of factored infinite series, and also Sulaiman [16] has obtained the following theorem for $|\bar{N}, p_n|_k$ summability method.

Theorem 2.1 *Let t_n be the n -th Cesàro mean of first order of the sequence $\{na_n\}$. Let $\{\varepsilon_n\}$ be a sequence of constants. If*

$$\sum_{n=1}^m n^{-1} |\varepsilon_n|^k |t_n|^k = O(1) \quad m \rightarrow \infty, \quad (1)$$

$$\sum_{n=1}^m p_n P_n^{-1} |\varepsilon_n|^k |t_n|^k = O(1) \quad m \rightarrow \infty, \quad (2)$$

$$\sum_{n=1}^m n^{k-1} |\Delta \varepsilon_n|^k |t_n|^k = O(1) \quad m \rightarrow \infty, \quad (3)$$

$$\sum_{n=1}^m n^{-1} P_n = O(P_m) \quad m \rightarrow \infty, \quad (4)$$

holds, then the series $\sum a_n \varepsilon_n$ is summable $|\bar{N}, p_n|_k, k \geq 1$.

3. Main Results

Given a normal matrix $A = (a_{nv})$, i.e., a lower triangular matrix of nonzero diagonal entries. A defines the sequence-to-sequence transformation, mapping the sequence $s = (s_n)$ to $As = (A_n(s))$, where

$$A_n(s) = \sum_{v=0}^n a_{nv}s_v, \quad n = 0, 1, \dots$$

We use two lower semimatrices

$\bar{A} = (\bar{a}_{nv})$ and $\hat{A} = (\hat{a}_{nv})$ as follows:

$$\bar{a}_{nv} = \sum_{i=v}^n a_{ni}, \quad n, v = 0, 1, \dots$$

and

$$\hat{a}_{00} = \bar{a}_{00} = a_{00}, \quad \hat{a}_{nv} = \bar{a}_{nv} - \bar{a}_{n-1, v}, \quad n = 1, 2, \dots$$

It may be noted that $\bar{A}$ and $\hat{A}$ are the well-known matrices of series-to-sequence and series-to-series transformations, respectively.

$$A_n(s) = \sum_{v=0}^n a_{nv}s_v \sum_{v=0}^n \bar{a}_{nv}a_v \quad (5)$$

and

$$A_n(s) - A_{n-1}(s) = \sum_{v=0}^n \hat{a}_{nv}a_v. \quad (6)$$

The series $\sum a_n$ is said to be summable $|A, p_n, \delta|_k$, $k \geq 1$ and $\delta \geq 0$, (see [11]) if

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} |A_n(s) - A_{n-1}(s)|^k < \infty.$$

In the special case, if we take $\delta = 0$, then we have $|A, p_n|_k$ summability method (see [17]). Also, if we take $\delta = 0$ and $a_{nv} = \frac{p_v}{P_n}$, then we get $|\bar{N}, p_n|_k$ summability method.

Sulaiman obtained Theorem 2.1 dealing with $|\overline{N}, p_n|_k$ summability method by using weighted mean matrix. We have studied this theorem for $|A, p_n|_k$ summability method in (see [14]). In this paper we extend Theorem 2.1 to the $|A, p_n, \delta|_k$ summability of the series $\sum a_n \varepsilon_n$. $|A, p_n, \delta|_k$ summability method is more general than $|A, p_n|_k$ and $|\overline{N}, p_n|_k$ summability methods. When we extend Theorem 2.1 to the following theorem, we use normal matrices instead of weighted mean matrices.

Theorem 3.1. *Let $A = (a_{nv})$ be a positive normal matrix such that*

$$\overline{a}_{n0} = 1, \quad n = 0, 1, \dots,$$

$$a_{n-1, v} \geq a_{nv}, \quad \text{for } n \geq v + 1,$$

$$a_{nn} = O\left(\frac{p_n}{P_n}\right), \quad (7)$$

$$\sum_{v=1}^{n-1} \frac{|\hat{a}_{n, v+1}|}{v} = O(a_{nn}), \quad \sum_{v=1}^{n-1} \frac{|\hat{a}_{n, v}|}{v} = O(a_{nn}), \quad (8)$$

$$\sum_{n=v+1}^{m+1} \left(\frac{P_n}{p_n}\right)^{\delta k} |\hat{a}_{n, v+1}| = O\left(\left(\frac{P_v}{p_v}\right)^{\delta k}\right) \text{ as } m \rightarrow \infty, \quad (9)$$

$$\sum_{n=v+1}^{m+1} \left(\frac{P_n}{p_n}\right)^{\delta k} |\Delta_v(\hat{a}_{nv})| = O\left(a_{vv} \left(\frac{P_v}{p_v}\right)^{\delta k}\right) \text{ as } m \rightarrow \infty, \quad (10)$$

$$\sum_{n=1}^m \left(\frac{P_n}{p_n}\right)^{\delta k} n^{-1} |\varepsilon_n|^k |t_n|^k = O(1) \text{ as } m \rightarrow \infty, \quad (11)$$

$$\sum_{n=1}^m \left(\frac{P_n}{p_n}\right)^{\delta k} a_{nn} |\varepsilon_n|^k |t_n|^k = O(1) \text{ as } m \rightarrow \infty, \quad (12)$$

$$\sum_{n=1}^m \left(\frac{P_n}{p_n}\right)^{\delta k} n^{k-1} |\Delta \varepsilon_n|^k |t_n|^k = O(1) \text{ as } m \rightarrow \infty. \quad (13)$$

Let t_n be the n -th Cesàro mean of first order of the sequence $\{na_n\}$, that is

$$t_n = \frac{1}{n+1} \sum_{v=1}^n va_v,$$

and $\{\varepsilon_n\}$ be a sequence of constants. Then the series $\sum a_n \varepsilon_n$ is summable

$$|A, p_n, \delta|_k, k \geq 1 \text{ and } 0 \leq \delta < \frac{1}{k}.$$

In general, in the proof of theorems dealing with absolute matrix summability, we use Minkowski, Hölder's inequalities and Abel transform.

Proof of Theorem 3.1. Let (Q_n) denotes the A -transform of the series $\sum_{n=1}^{\infty} a_n \varepsilon_n$. Then, by equations (5) and (6), we have

$$Q_n(s) - Q_{n-1}(s) = \sum_{v=0}^n \hat{a}_{nv} a_v \varepsilon_v = \sum_{v=1}^n v^{-1} \hat{a}_{nv} v a_v \varepsilon_v.$$

Applying Abel's transformation (see [13]) to

$$\sum_{v=1}^n v^{-1} \hat{a}_{nv} v a_v \varepsilon_v,$$

we have that

$$\begin{aligned} \sum_{v=1}^n v^{-1} \hat{a}_{nv} v a_v \varepsilon_v &= \sum_{v=1}^{n-1} \Delta_v (\hat{a}_{nv} \varepsilon_v v^{-1}) \sum_{r=1}^v r a_r + \frac{\hat{a}_{nn} \varepsilon_n}{n} \sum_{r=1}^n r a_r \\ &= \sum_{v=1}^{n-1} (v+1) t_v (v^{-1} (v+1)^{-1} \hat{a}_{nv} \varepsilon_v + (v+1)^{-1} \Delta_v (\hat{a}_{nv}) \varepsilon_v + (v+1)^{-1} \hat{a}_{n,v+1} \Delta_{\varepsilon_v}) \\ &\quad + \frac{n+1}{n} a_{nn} \varepsilon_n t_n \\ &= \sum_{v=1}^{n-1} \Delta_v (\hat{a}_{nv}) \varepsilon_v t_v + \sum_{v=1}^{n-1} \hat{a}_{n,v+1} \Delta_{\varepsilon_v} t_v + \sum_{v=1}^{n-1} \hat{a}_{n,v} \varepsilon_v \frac{t_v}{v} + a_{nn} \varepsilon_n t_n \frac{n+1}{n} \\ &= Q_{n,1} + Q_{n,2} + Q_{n,3} + Q_{n,4}. \end{aligned}$$

To complete the proof of Theorem 3.1, it is sufficient to show that

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} |Q_{n, r}|^k < \infty, \text{ for } r = 1, 2, 3, 4.$$

First, by applying Hölder's inequality (see [13]) with indices k and k' , where $k > 1$ and $\frac{1}{k} + \frac{1}{k'} = 1$, and by using the conditions (7), (10) and (12), we have that

$$\begin{aligned} \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} |Q_{n, 1}| &\leq \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} \left\{ \sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| |\varepsilon_v| |t_v| \right\}^k \\ &\leq \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} \sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| |\varepsilon_v|^k |t_v|^k \times \left\{ \sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| \right\}^{k-1} \\ &= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} a_{nn}^{k-1} \left\{ \sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| |\varepsilon_v|^k |t_v|^k \right\} \\ &= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} \left(\frac{p_n}{P_n} \right)^{k-1} \left\{ \sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| |\varepsilon_v|^k |t_v|^k \right\} \\ &= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k} \left\{ \sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| |\varepsilon_v|^k |t_v|^k \right\} \\ &= O(1) \sum_{v=1}^m |\varepsilon_v|^k |t_v|^k \sum_{n=v+1}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k} |\Delta_v(\hat{a}_{nv})| \\ &= O(1) \sum_{v=1}^m \left(\frac{P_v}{p_v} \right)^{\delta k} a_{vv} |\varepsilon_v|^k |t_v|^k = O(1) \text{ as } m \rightarrow \infty. \end{aligned}$$

Then by using the conditions (7)-(9) and (13), we have that

$$\sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} |Q_{n, 2}|^k \leq \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} \left\{ \sum_{v=1}^{n-1} |\hat{a}_{n, v+1}| |\Delta \varepsilon_v| |t_v| \right\}^k$$

$$\begin{aligned}
&= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k+k-1} \left\{ \sum_{v=1}^{n-1} \frac{|\hat{a}_{n,v+1}|}{v} v |\Delta \varepsilon_v| |t_v| \right\}^k \\
&= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k+k-1} \sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| |\Delta \varepsilon_v|^k |t_v|^k v^{k-1} \times \left\{ \sum_{v=1}^{n-1} \frac{|\hat{a}_{n,v+1}|}{v} \right\}^{k-1} \\
&= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k+k-1} (a_{nn})^{k-1} \sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| |\Delta \varepsilon_v|^k |t_v|^k v^{k-1} \\
&= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k+k-1} \left(\frac{p_n}{P_n} \right)^{k-1} \sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| |\Delta \varepsilon_v|^k |t_v|^k v^{k-1} \\
&= O(1) \sum_{v=1}^m |\Delta \varepsilon_v|^k |t_v|^k v^{k-1} \sum_{n=v+1}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k} |\hat{a}_{n,v+1}| \\
&= O(1) \sum_{v=1}^m \left(\frac{P_v}{p_v} \right)^{\delta k} |\Delta \varepsilon_v|^k |t_v|^k v^{k-1} = O(1) \text{ as } m \rightarrow \infty,
\end{aligned}$$

and also by virtue of hypotheses of Theorem 3.1, and the conditions (7)-(9) and (11), we have

$$\begin{aligned}
&\sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k+k-1} |Q_{n,3}| \leq \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k+k-1} \left| \sum_{v=1}^{n-1} \hat{a}_{n,v} \varepsilon_v \frac{t_v}{v} \right|^k \\
&\leq \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k+k-1} \left\{ \sum_{v=1}^{n-1} |\hat{a}_{n,v}| |\varepsilon_v| \frac{|t_v|}{v} \right\}^k \\
&\leq \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k+k-1} \sum_{v=1}^{n-1} |\hat{a}_{n,v}| |\varepsilon_v|^k \frac{|t_v|^k}{v} \times \left\{ \sum_{v=1}^{n-1} \frac{|\hat{a}_{n,v}|}{v} \right\}^{k-1} \\
&= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k+k-1} (a_{nn})^{k-1} \sum_{v=1}^{n-1} |\hat{a}_{n,v}| |\varepsilon_v|^k \frac{|t_v|^k}{v}
\end{aligned}$$

$$\begin{aligned}
&= O(1) \sum_{n=2}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} \left(\frac{p_n}{P_n} \right)^{k-1} \sum_{v=1}^{n-1} |\hat{a}_{n,v}| |\varepsilon_v|^k \frac{|t_v|^k}{v} \\
&= O(1) \sum_{v=1}^m |\varepsilon_v|^k \frac{|t_v|^k}{v} \sum_{n=v+1}^{m+1} \left(\frac{P_n}{p_n} \right)^{\delta k} |\hat{a}_{n,v}| \\
&= O(1) \sum_{v=1}^m \left(\frac{P_v}{p_v} \right)^{\delta k} |\varepsilon_v|^k \frac{|t_v|^k}{v} = O(1) \text{ as } m \rightarrow \infty.
\end{aligned}$$

Finally, by using the conditions (7) and (12), we have that

$$\begin{aligned}
&\sum_{n=1}^m \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} |Q_{n,4}|^k = O(1) \sum_{n=1}^m \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} (a_{nn})^{k-1} |\varepsilon_n|^k |t_n|^k \\
&= O(1) \sum_{n=1}^m \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} \left(\frac{p_n}{P_n} \right)^{k-1} a_{nn} |\varepsilon_n|^k |t_n|^k \\
&= O(1) \sum_{n=1}^m \left(\frac{P_n}{p_n} \right)^{\delta k} a_{nn} |\varepsilon_n|^k |t_n|^k = O(1) \text{ as } m \rightarrow \infty.
\end{aligned}$$

This completes the proof of Theorem 3.1.

4. Conclusions

If we apply Theorem 3.1 to the weighted mean, then $A = (a_{nv})$ is defined as $a_{nv} = \frac{p_v}{P_n}$, $v = 0, 1, \dots, n$; $n = 0, 1, 2, \dots$, when $0 \leq v \leq n$, where $P_n = p_0 + p_1 + p_2 + \dots + p_n$, it is clear that $\hat{a}_{n,v+1} = \frac{p_n p_v}{P_n P_{n-1}}$, and by taking $a_{nv} = \frac{p_v}{P_n}$, the condition (8) reduces to the condition (4) as follows:

$$\sum_{v=1}^{n-1} \frac{|\hat{a}_{n,v+1}|}{v} = \sum_{v=1}^{n-1} \frac{1}{v} P_v \left(\frac{p_n}{P_{n-1} P_n} \right) = \left(\frac{p_n}{P_{n-1} P_n} \right) \sum_{v=1}^{n-1} \frac{P_v}{v} = O(a_{nn}).$$

It should be noted that if we take $\delta = 0$ and $a_{nv} = \frac{p_v}{P_n}$, the conditions (11), (12) and (13) reduce to the conditions (1), (2) and (3) respectively.

1. If we take $\delta = 0$ and $a_{nv} = \frac{p_v}{P_n}$ in Theorem 3.1, then we have Theorem 2.1 dealing with $|\bar{N}, p_n|_k$ summability method.
2. If we take $\delta = 0$ in Theorem 3.1, we have a result for $|A, p_n|_k$ summability method.

References

- [1] H. Bor, On two summability methods, Math. Proc. Cambridge Philos. Soc., 97 (1985) 147-149.
- [2] H. Bor, An application of quasi-monotone sequences to infinite series and Fourier series, Anal. Math. Phys., 8 (2018) 77-83.
- [3] H. Bor, On absolute Riesz summability factors of infinite series and their application to Fourier series, Georgian Math. J. 26 3 (2019).
- [4] H. Bor, Certain new factor theorems for infinite series and trigonometric Fourier series, Quaest. Math., 43 (2020) 441-448.
- [5] H. Bor, A new application of a wider class of power increasing sequences, Numer. Funct. Anal. Optim., 42 (2021) 712-720.
- [6] H. Bor, A new note on factored infinite series and trigonometric Fourier series, C. R. Math. Acad. Sci. Paris, 359 (2021) 323-328.
- [7] H. Bor, Factored infinite series and Fourier series involving almost increasing sequences, Bull. Sci. Math. 169(102990) (2021).
- [8] H. Bor, Absolute weighted arithmetic mean summability of factored infinite series and Fourier series, Bull. Sci. Math. 176 (2022) 103-116.
- [9] F.C. Hsiang, On $|C, 1|$ summability factors of Fourier series at a given point, Pacific J. Math. 33 (1970) 139-147.
- [10] G.S. Pandey, Multipliers for $|C, 1|$ summability of Fourier series, Pacific J. Math., 79 (1978) 177-182.
- [11] H.S. Ozarslan and H.N. Ozgen, Generalizations of two theorems on absolute summability methods, Aust. J. Math. Anal. Appl., 1 (2004), 1-7.
- [12] G. H. Hardy, Divergent Series, Oxford Univ. Press., Oxford, (1949).
- [13] I.J. Maddox, Introductory Mathematical Analysis. Bristol: Adam Hilger Ltd. 1977.
- [14] S. Yildiz, A new result on matrix summability factors of Fourier series, Eurasian Math. J. 10 (2019), 80-88.

- [15] S. Yildiz, A new extension on the theorem of Bor, C. R. Math. Acad. Sci. Paris, 359 (2021) 555-562.
- [16] W.T. Sulaiman, On $|\overline{N}, p_n|$ summability factors of Fourier series, Portugalia Math., 45 (1988) 115-124.
- [17] W. T. Sulaiman, Inclusion theorems for absolute matrix summability methods of an infinite series (IV), Indian J. Pure Appl. Math., 34 (2003) 1547-1557.
- [18] W.T. Sulaiman, Absolute summability factors involving quasi-f-power increasing sequences, Int. J. Math. and Computer Sci. 7 (2012) 1-10.